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Abstract for the impatient
SMEFT global-fits: two major challenges

Flavor

assumptions Incomplete


observables

The CLEW framework

Flavor-assumption-free



SMEFT in a nutshell



SMEFT at work

Make flavor-symmetry

assumptions

Handpick observables 

and operators

￼ , MFV, ￼ , top...U(3)5 U(2)5 EWPO + Higgs + top

+ some flavor...



2v2 [C(3)
Hq − C(3)

Hl + Cll − C(3)
lq ] = Δfit

CKM ≈ − 0.67 %

~￼  at percent level2σ

Δexp
CKM ≈ − 0.15 %

~￼  at permil level3σ

Casefile: ￼  + EWPOU(3)5
U(3)q × U(3)u × U(3)d × U(3)l × U(3)e Fitting without a CLEW
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With all flavor indices
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With all flavor indices

37 in total
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37 operators are "more equal"
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37 in total

G. Orwell

What do we learn?



Let's do ￼  fits!237 ≈ 1011

Still, some are more equal



Let's do ￼  fits!237 ≈ 1011

Group them into 10 categories

Let's do ￼  fits!210 = 1024



AIC and one thousand fits

Let's do ￼  fits!210 = 1024

Akaike Information Criterion
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AIC and one thousand fits

Akaike Information Criterion

￼AIC = χ2 + 2 × (number of Ops.)
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• Left-Right Symmetric Models
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￼CHud

￼  solves CabibboCHud

• Left-Right Symmetric Models


        2107.10852


• Vector-Like Quarks ~ 


        2212.06862,  2302.14097

𝒪(TeV)



￼CHud

Falsifying ￼CHud

￼K → ππ

• Left-Right Symmetric Models


        2107.10852


• Vector-Like Quarks ~ 


        2212.06862,  2302.14097

𝒪(TeV)

￼  from RBC/UKQCDA2



Summary: the CLEW framework

￼CHud
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Finale


